Test of Discrete Event Systems - 08.10.2020

Exercise 1

A machine performs operations of three types, denoted by a, b and c. For technical reasons, an
operation of type ¢ cannot be performed immediately after two consecutive operations both of type

a, or both of type b. At initialization, no operation has been performed.
1. Model the logic of the machine.

2. Model a system designed to support the scheduling of the operations on the machine: given a
sequence of operations, the system returns whether the sequence is feasible for the machine,

or not.
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